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a?b + 2ab — 2a — 4, 2a® + 4a — 2ab — 4bE 2

Q14129

@ a @ a+b @a+2

@ a-b ® ab-2

B

a’b+2ab—2a-4 =ab(a+2)-2(a+2)
=(a+2)(ab-2)

2a® + 4a — 2ab — 4b = 2a(a +2) — 2b (a + 2)
=2(a+2)(a-D)




® 2x24+Tx+6

@ x*-4

@x2+x—6

® 3x24+Tx+2

@ 2x24+3x-2
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3. (x+y)(x+y-1)-20 ZHZ2A AgEaht A2

@(x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x-y-5)(x-y+4)

~&B

x+y=A=l 59

(x+y)(x+y-1)—20 = A(A-1) - 20
=A%2-A-20
=(A-5)(A+4)
=x+y-5)(x+y+4)




SR (6%~ 3x 4 2) (2 + Bx + 6) - 60 & RS

O (x+4)(x=3)(x*+x+5) @ (x-4)(x+3)(x*-x+4)
® (x+6)(x—2)(x2+x+5) @(x+4)(x—3)(x2+x+4)

® (x—4)(x+3)(x* +x+4)

~&B

(x2 = 3x + 2)(x + 5x + 6) — 60
=(x=1)(x=2)(x+2)(x+3) - 60
= (x—1)(x+2) x (x=2)(x+3) — 60
= (s + x - 2)(x% + x - 6) - 60
P+x=AR FOH
(A-6)(A-2)-60=A>-8A-48
= (A-12)(A +4)

=2+ x-12)(x2 +x+4)
=(x+4)(x-3)(x2+x+4)




5. x2—y2+8y—16 = (A)(B) % IIH’A+B:x2 _04 6H‘EE" :I_L.c-_)}_%?(%’
x#0)

O x=1 (@)xz? ® x=3 @ x=14 ® x=5

~&B

x? = y? 48y 16 = 2% — (y2 - 8y + 16)
=1 -(y-4)?
=(x+y-4)(x-y+4)

A+B=(x+y-4)+(x-y+4) =22~

R=2NA x=0FEEx=2,

ZZ0A x £ 00| ERE, x =2 o},




6. ax’+24x+b = (3x+c)? D, A5 a, b, ¢ O] ke AR FoHH?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4

~&B

(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4




Vi=a-10°]2, -1 <a<39 M, Vx+da+ Vx—4a + 8= 73]
SHH?

@ 1 @ 2 @3 @ ® 5

B

Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4
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8.

x4+ 2

X2 4+4x+4

2 4+4x+4

B

_z._o

(x+2)°

(x+2)

r
=

weh g o] 2ol




Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091




10. [a, b, (] =(a=b)(a—c)F & W, [a, b, |- [b, a, | E UF-EH5HH,
(xa+yb+zc)(pa+gb+rc) oItk ol W, x+y+z+p+qg+r Y

&e?

®-1 @3 @ @ 2 ® -2

B

(@=b)a=c)=(b-a)(b-c)
=(a-b)la-c)+(a-b)(b-c)

— (a-b){(a-c) + (b))
=(a-b)(a+b-2c)
LX+y+ztpt+gtr
=14+(-)+0+1+1+4(-2)=0




11. (x+y+4)(x—y+4) - 16x S HI2A] A5t A9

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




12, 2(x+2)2+ (x+2)(3x— 1) = (3x = 1)2 = —(ax + b)(cx + d) ¥ T,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1
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13.

@ 2 ® 4 @)6 ® 8

D1
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14. #4210 —1 2 30 7 40 Ato] o] F AA=o]| ofste] WroEolzl
th. o] F Zd4-] g2 Fstejzt,

>

> =g 64

~&B

9160 _ 1

= (2% +1)2° +DE* +1)(2" + 1)(2° +1)(2° - 1)

2160 — 1 & o] Hojx]A| SH= 4= F 30 3 40 Ato] 9] =
2°+1=3332°-1=310|t

. 33+31=64




15. a:4‘3‘/§,b:4+32*5

& W, 4a” + 4ab +b* ] F= TStk
B

[ 2
> =g 16

402 + dab + b® = (2a + b)*

_(8-2V2  4+42V2
N 3 T3

= 42
=16




16.

f(x) =4x+2, g(x) = 6x% — 5x — 4 °f| th5}o]

Letold of, 2ab ©] ghe F5HH?

g(x)

f(x)

® 12

=ax+b =




17.

flo ol 4r

@ x-2a

@ x+da®

(@)x—a

® x*+a

o|ZFA 2 —ax+b=AB, *+ax—-b=CD7} Zt
oz 9B A uf x(A+B+C+D)-4a® 9
?

® x

7t

=

?l

=
=
T2

Qo]

=

2
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>

[e]
~

9l

VAl

A

B

(i) x¥>—ax+b=AB
=(x+a)(x+p)
=x>+ (a+p)x+ap

A+B=(x+a)+ (x+p)
=2x+a+p=2x—-a

(ii) x> +ax-b =CD
= (x+7) (x+9)
=x>+(y+6)x+vy6
C+D=(x+y)+(x+9)
=2x+y+0=2x+a
~x(A+B+C+D)-4a®
=x(2x—a+2x+a) - 4a®
=4x?—4a®* =4(x+a) (x—a)




18.

¥ rax—bx+127F (x-1) 7 (x+2) B UFo] Bojd o, a+ b
o) g2 Tofolat

x% + ax? — bx + 12
=(x-1)(x+2)(x+k)

=x3+ (k+1)x% + (k—2)x -2k
—2k=12, " k=—6
a=k+1=-5
~b=k-2=-8, .b=38
La+b=-5+8=3

B ~

f(x)=x3+ax®—bx+ 128t & o,

f(x)7F (x=1) ¢ (x+2) E =2 7 A
f(1)=0, f(-2) =0°]B=,
1B+ax12-px14+12=0---O

(-2 +ax(-2)2-bx(-2)+12=0---O
Q, O= AHst] EH,a=-5, b=38
a+b=-5+8=3




l<p<20d, \x=p-1<4 W, Vxt+dp+ Vx-2p+3 9 a=

T-otofet,
B

>
|> pal= 3

oHd =

~&B

Vi— p—19 e ABs
x=(p-1)%olBE=2

Vx+4p+ Vx—2p +2
=(p-12+4p+ /(p-12-2p+3
=p+D2+ /(p-2)?
][m,2<p—|—1<30]_1_,—1<p—2<0°]_‘:'_§
L (FEAD A =p+1-(p-2) =3




20. YA 7tEet Aol Zol7t A2 2x -1, x—y ¢ AW A9 Fu]7}
263 + 2% = 2x%y —x—xy +y oItk o] Wl x, y O] gk& 27 Fsholzt

> E.
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y ol skl WA= o = A 2stH
(FA) =y (-2 -x+1)+2:3+ 2% —x
—y(—2x2—x+1)+x(2x2+x—l)
=(x-y) (2x*+x-1)
=(x-y)(2x-1)(x+1)




